A pp — 88,8 — bbx, pp— 88 & — ttx; pp — 888 — q9x1 PP — 888 — 99V}
Region | Nt Npjer  Hr [GeV] HI' [GeV] | my = 1500 GeV mg = 1500 GeV mg = 1400 GeV mg = 1400 GeV
My = 100 GeV My = 100 GeV Mg = 100 GeV My = 100 GeV
T 30 500+ 500+ 761E0.19 1.60£0.05 100.64 £ 123 13871084
7 [ 3+ 0 1500+ 750+ 282011 053003 32.49  0.69 1054 T 041
3 5+ 0 500+ 500+ 498 +£0.13 1.57 +0.05 7493 +1.04 42.43 +0.82
I [ 5 0 1500+ 750+ 200 £0.08 053£0.03 25.16 £ 0.59 1034 £ 0.40
5 [ 9x 0 500+ 750+ 014002 026£0.02 217 £0.15 353 %021
6 3+ 2+ 500+ 500+ 45.16 + 0.61 19.39 +£0.29 493 £+0.10 7.58 +£0.18
7 3+ 1+ 750+ 750+ 33.47 +0.52 10.88 +0.21 15.12 +£0.27 9.83 £0.26
8 [ 5+ 3+ 500+ 500+ 1584036 10311023 050 £0.03 1371007
9 5+ 2+ 1500+ 750+ 13.02 £ 0.32 6.29 +£0.17 1.48 +0.06 1.97 +0.09
0 | 9+ 3+ 750+ 750+ 0.86£0.09 3115013 0.05£0.01 0255003
T | 7+ 1= 300+ 300+ 29.70 £ 047 3430 £ 037 7471029 3820 £ 051
12 5+ 1+ 750+ 750+ 25.81 +0.45 10.87 +0.21 12.36 £0.24 9.69 +£0.26




